













Very convenient!  

$$P(Y = 0 | X = \langle X_1, ..., X_n \rangle) = \frac{1}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies  

$$P(Y = 1 | X = \langle X_1, ..., X_n \rangle) = \frac{exp(w_0 + \sum_i w_i X_i)}{1 + exp(w_0 + \sum_i w_i X_i)}$$
implies  

$$\frac{P(Y = 1 | X)}{P(Y = 0 | X)} = exp(w_0 + \sum_i w_i X_i)$$
implies  

$$\ln \frac{P(Y = 1 | X)}{P(Y = 0 | X)} = w_0 + \sum_i w_i X_i$$

$$\ln \frac{P(Y = 1 | X)}{P(Y = 0 | X)} = w_0 + \sum_i w_i X_i$$

























Standard v. Regularized Updates  
Maximum conditional likelihood estimate  

$$\mathbf{w}^{*} = \arg \max_{\mathbf{w}} \ln \left[ \prod_{j=1}^{N} P(y^{j} | \mathbf{x}^{j}, \mathbf{w}) \right]$$

$$\overline{w_{i}^{(t+1)} \leftarrow w_{i}^{(t)} + \eta \sum_{j} x_{i}^{j} [y^{j} - \hat{P}(Y^{j} = 1 | \mathbf{x}^{j}, \mathbf{w}^{(t)}]}$$
Regularized maximum conditional likelihood estimate  

$$\mathbf{w}^{*} = \arg \max_{\mathbf{w}} \ln \left[ \prod_{j} P(y^{j} | \mathbf{x}^{j}, \mathbf{w})) \right] - \lambda \sum_{i>0} w_{i}^{2}$$

$$\overline{w_{i}^{(t+1)} \leftarrow w_{i}^{(t)} + \eta \left\{ -\lambda w_{i}^{(t)} + \sum_{j} x_{i}^{j} [y^{j} - \hat{P}(Y^{j} = 1 | \mathbf{x}^{j}, \mathbf{w}^{(t)}] \right\}}$$
Example





